Exam

Name___________________________________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Which of the following is a transition element?


A) Au

B) Cu

C) Ag

D) all of the above
E) none of the above

 Which of the following is a halogen?


A) F

B) Cl

C) I

D) all of the above
E) none of the above

 What is the predicted ionic charge for an Al ion?


A) 3-

B) 1-

C) 1+

D) 3+
E) none of the above

The compound CaCO3 is classified as which of the following?


A) binary ionic

B) ternary ionic
C) binary molecular

D) binary acid

E) ternary oxyacid

The NH4+ ion is classified as which of the following?

A) monoatomic cation

B) monoatomic anion

C) polyatomic cation
D) polyatomic anion

E) none of the above

What is the chemical formula for the copper(I) ion?


A) Co+

B) Cu2+

C) Co2+

D) Cu+
E) none of the above

 What is the systematic name for PO43-?


A) phosphate ion
B) tetraphosphate ion

C) phosphide ion

D) phosphite ion

E) none of the above

What is the chemical formula for the ternary compound composed of Co3+ and SO42- ions?


A) Co2SO4

B) CoSO4

C) Co2(SO4)3
D) Co3(SO4)2

E) none of the above

What is the chemical formula for aluminum sulfide?


A) Al3S2

B) AlS

C) Al2S

D) Al2S3
E) none of the above

What is the ionic charge for the copper ion in Cu(NO3)2?


A) zero

B) 1+

C) 2+
D) 3+

E) none of the above

What is the systematic name for SF6?


A) sulfur octafluoride

B) sulfur tetrafluoride

C) sulfur hexafluoride
D) sulfur heptafluoride

E) none of the above

What is the systematic name for aqueous H2S?


A) dihydrogen sulfide

B) sulfuric acid

C) hydrogen sulfide

D) hydrosulfuric acid
E) none of the above

What is the chemical formula for sulfuric acid?


A) HSO3(aq)

B) HSO4(aq)

C) H2SO4(aq)
D) H2SO3(aq)

E) none of the above

 Which of the following is evidence for a reaction when two solutions mix?


A) Bubbles are released.

B) An indicator changes color.

C) Insoluble particles form.

D) Heat is produced.

E) all of the above
Which of the statements below best describes the following reaction?


Na2CO3(s)
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Na2O(s) + CO2(g)

A) Sodium carbonate decomposes to sodium oxide and carbon dioxide gas.

B) Sodium carbonate decomposes with heat.

C) Sodium carbonate is heated to give sodium oxide and carbon dioxide.

D) Solid sodium carbonate is heated to give solid sodium oxide and carbon dioxide gas.
E) Sodium carbonate decomposes to sodium oxide and carbon dioxide.
Which of the following elements occurs naturally as diatomic molecules?


A) fluorine gas

B) iodine vapor

C) chlorine gas

D) all of the above
E) none of the above

 What is the coefficient of silver metal after balancing the following equation?


__Cu(s) + __AgNO3(aq)
→
__Cu(NO3)2(aq) + __Ag(s)

A) 1

B) 2
C) 3

D) 4

E) none of the above

 What is the coefficient of water after balancing the following equation?


__H3PO4(aq) + __Ba(OH)2(aq)
→
__Ba3(PO4)2(s) + __H2O(l)

A) 1

B) 2

C) 3

D) 6
E) none of the above

 What type of chemical reaction is illustrated in the following example?


N2(g) + H2(g)
→
NH3(g)

A) combination reaction
B) decomposition reaction

C) single-replacement reaction

D) double-replacement reaction

E) neutralization reaction

 What type of chemical reaction is illustrated in the following example?


Zn(s) + HCl(aq)
→
ZnCl2(aq) + H2(g)

A) combination reaction

B) decomposition reaction

C) single-replacement reaction
D) double-replacement reaction

E) neutralization reaction

Which of the following metals reacts with sulfuric acid?


A) Cu

B) Cd
C) Ag

D) all of the above

E) none of the above

 Which of the following solid compounds is insoluble in water?

A) BaSO4

B) PbCl2

C) Hg2I2

D) all of the above
E) none of the above

What are the predicted products from the following neutralization reaction?


HNO3(aq) + Ba(OH)2(aq)
→

A) Ba3N2 and H2O

B) Ba(NO2)2 and H2

C) Ba(NO3)2 and H2O
D) Ba(NO2)2 and H2O

E) Ba(NO3)2 and H2

 The formula for mustard gas used in chemical warfare is C4H8SCl2. What is the percentage of chlorine in the compound?

A) 22.28%
B) 30.20%
C) 5.08%
D) 20.16%
E) 44.57%
 The first inert gas compound to be synthesized was XePtF6. What is the percentage of fluorine in the compound?


A) 44.3%
B) 4.31%
C) 29.8%
D) 5.50%
E) 25.9%
 If 0.587 g of nickel metal reacts with 1.065 g of chlorine gas, what is the empirical formula of the nickel chloride product?


A) Ni3Cl2
B) NiCl
       C) NiCl3
D) NiCl2
E) Ni2Cl3

Fructose is a sugar found in fruit and honey. Calculate the empirical formula for fructose given its percent composition: 40.00% C, 6.72% H, and 53.29% O.


A) CHO2
B) CHO
C) C3H6O3
D) C6HO8
E) CH2O
What is the mass of 455 mL of ethane gas, C2H6, at STP?


A) 65.9 g
B) 10.2 g
C) 0.611 g
D) 2.95 g
E) 0.340 g

 What is the number of manganese atoms that equal a mass of 54.94 g?


A) 6.02 × 1023
B) 1

C) 25

D) 55

E) none of the above

What is the mass of 3.30 × 1023 atoms of silver, Ag?


A) 197 g
B) 25.8 g
C) 0.549 g
D) 85.7 g
E) 59.1 g
If 1.823 g of cobalt metal reacts with 0.495 g of oxygen gas, what is the empirical formula of the cobalt oxide product?


A) CoO2
B) Co3O2
C) CoO3
D) Co2O3
E) CoO
What is the molar mass of mercurous nitrate, Hg2(NO3)2?

A) 262.20 g/mol

B) 573.20 g/mol

C) 926.38 g/mol

D) 621.20 g/mol

E) 525.20 g/mol
 What is the density of carbon monoxide gas, CO, at STP?


A) 1.25 g/L
B) 0.714 g/L
C) 22.4 g/L
D) 1.40 g/L
E) 0.800 g/L
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[image: image3.jpg]TABLE 7.3 COMMON POLYATOMIC IONS

CATION IUPAC NAME

NH," ammonium ion

ANION IUPAC NAME ANION IUPAC NAME
C,H30, acetate ion OH™ hydroxide ion*
CO52” carbonate ion ClO- hypochlorite ion
ClOs~ chlorate ion NO3~ nitrate ion
ClO,~ chlorite ion NO,™ nitrite ion
CrO,% chromate ion ClOs~ perchlorate ion
CN~ cyanide ion* MnOy~ permanganate ion
Cr,0,2~ dichromate ion PO, phosphate ion
HCO;~ hydrogen carbonate ion S0,2" sulfate ion
HSO4~ hydrogen sulfate ion 5032~ sulfite ion

*Note that the suffix -ide is an exception to the general -ate and -ite rule.
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[image: image4.jpg]TABLE 8.2 SOLUBILITY RULES FOR IONIC COMPOUNDS

Compounds containing the following ions are generally soluble in water:

1.
2.
3.
4.

5;

alkali metal ions and the ammonium ion, Li*, Na*, K*, NH,*

acetate ion, CoH30,~

nitrate ion, NO3~

halide ions (X = CI-, Br~, I) (AgX, HgyX,, and PbX; are exceptions and insoluble)
sulfate ion, an SO4?~ (SrSO;, BaSOy, and PbSO, are exceptions and insoluble)

Compounds containing the following ions are generally insoluble in water:"

6.
A
8.
9.
10.

carbonate ion, CO32_ (see Rule 1 exceptions, which are soluble)

chromate ion, CrO42’ (see Rule 1 exceptions, which are soluble)

phosphate ion, PO, (see Rule 1 exceptions, which are soluble)

sulfide ion, S?~ (CaS, SrS, BaS, and Rule 1 exceptions are soluble)

hydroxide ion, OH~ [Ca(OH),, Sr(OH),, Ba(OH),, and Rule 1 exceptions are soluble]

*These compounds are actually slightly soluble, or very slightly soluble, in water.

©2011 Pearsor

n Education, Inc.





